Test Booklet Code & Serial No.

JYTIAhT hIS o HHT B

Paper-III
GEOGRAPHY

Signature and Name of Invigilator

1. (Signature) .....cccceeevvevrreereeeeeeeeeeeeeeenen.

JAN - 36318
Time Allowed : 2% Hours]

OMR Sheet No.

Seat No.

(In figures as in Admit Card)

SCATLINO. ettt e

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

® N

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry ¢twomarks. A//questions of Paper-I1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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GEOGRAPHY

Paper III

T

gyatrent 111

Time Allowed : 2% Hours]

Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carrying Two (2) marks. Attempt A// questions.
AT ¢ A TRAUCThA THYT el (75) sgadrt Tee fo ofed. g TR g (2)
O SRA. WA YA Higel.

(A)
(B)
()
(D)

............ is associated with sunken

Abyssal reef
Fringing reef
Atoll

Barrier reef

2.  Which of the following is not an
island arc ?

(A)
(B)
(®)
(D)

Aleutian
Hawaiian
Philippine

Japanese

............ are vascular plants.

Fungi
Pteridophyta

Lichens

................ %F‘“‘l"‘l qum%d\dﬂl%ﬁﬁaﬁ

(A) STTY WaTEhe

(B) 3T YdTeehll

(C) 3feta

(D) AYw YelTeshell

Wefadeh! A T g =19 e ?
(A) AT

(B) TR

(C) fwfaemea

(D) ST

[P.T.O.



Which of the following isms was
greatly influenced by mythological

literature ?

(A) Determinism

(B) Possibilism

(C) Catastrophism
(D) Environmentalism

“The senile man talked about the
senile landscape.” This criticism

was levelled against W. M. Davis
by oo, .

(A) R. J. Choreley
(B) L. C. King
(C) Penk

(D) Wouldridge

Which of the following is incorrect
pair ?
(A) Ellsworth Huntington

Determinism

(B) Richard Hartshone : Areal

differentiation

(C) Yi-Fu Twuan :
Geography

Humanistic

(D) Richard Peet : Possibilism

JAN - 36318/II1I—B
ETATTdeh! I el THIMSE

STEHATE TE] Bl ?

(A) fE=arR

(B) HvedE
(C) FAafdehamEE
(D) TIELUERE
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(A) Togad gfemeq : fveene

(B) T=E sw : &g fafy=ar
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Which of the following statements
is incorrect about contribution of

Arab Geographers ?

(A) Al Battam measured the circum-

ference of the earth

(B) Al Masudi described Indian

monsoon

(C) Sun was considered as the

centre of the universe

(D) Tides are caused due to the
gravitational pull of the sun and

the moon

The concept of ‘deep ecology’ is
associated with whom of the

following ?

(A) James Lovelock
(B) Arne Naess

(C) D. Hughes

(D) J. Emel

JAN - 36318/III—B
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EcAtelieh! ShIod fae ™R 3mg ?

(A) 3T SEH I e e /I
LS|
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10.

Which of the following statements

is not correct ?

(A) Quantitative revolution leads to

quantification

(B) Quantitative revolution has
changed the language of

expression

(C) Quantitative revolution
discarded the descriptive

method

(D) Quantitative revolution does

not have much scope for

mathematical applications

Who among the following was
influenced by Charles Darwin in

model proposed by him ?
(A) L. C. King

(B) W. M. Davis

(C) Walter Penk

(D) James Dana

10.
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Teterdeh! v oo afeR @ ?

(A) WifETRa HidTes WG I

et THesren

(B) WfEHhTT HIcHeS FhelohIuI o

EHll

(C) Wifea®d e JUHARHS dga

oG et

(D) WifePshia ShiAHE Mo ST
HRE o6 AR

@eiTeieh! 0T HiSeied HiaHMER =Ted

= 9@ Tegd Idr ?

(A) WA &I &

(B) T9. WH. XM

(C) =R Tk

(D) = A




11.

12.

13.

Which of the following is not an

approach in population geography ?
(A) Behavioural

(B) System

(C) Histo-genetic

(D) Systematic

Who used the concept of “Outlying

Business District” in Urban Landuse

Theory ?

(A) E. Burges

(B) Harris and Ullman

(C) Homer Hoyt

(D) E. Burges and Homer Hoyt

Dry point rural settlement are

commonly found in .................. region.
(A) Desert

(B) Plateau

(C) Mountainous

(D) Riverine

11.

12.

13.
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TTeiTeTdehl hIOTAT GISeahTol cllehEe
T ST ARl ?

(A) =R

(B) Woredt

(C) sfaer™ S

(D) TEHAR

TR EIAeH fagame ‘ aeaad o
%% & GHheT HUT AR ?

(A) 3. =g
(B) 09 9 39

(C) T T

(D) 3 FE F T TACL

I YU SAEAT.
(A) =

(B) W3R

(C) Teid

(D) ErerT
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14. Match the following and select the

correct answer from the codes given

below :

(a)
(D)
(©
(d)

(1)
2)

3)
(4)

List-I
Transhumance
Emigration
Commuting
Immigration
List-II
Daily movement to urban areas

Seasonal movement with

animals
Movement from a country

Movement into a country

Codes :

A 3
(B) D)
(C) @)

D) @)

(a (b (o

2 O @

2 G @

@) @1 @

@) @ @
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14. TTeid SiedT S[egan d &1 @elt feerean
foear@ ara T e

(a)

(D)

()

(d)

(D

(2)

3)

(4)

Tqeit-1
T
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e
LN

Tet-11

TS IR ¥R g

FIIIR SHEREE gard

QeMEhgT BT
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A) )

B) D)

C) @)

D) @)

(@ b (© (@
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15.

16.

Renewal and rebuilding of
deteriorating areas of cities by influx
of high class and professional groups

is called as .................. .

(A) Counter urbanisation

(B) Gentrification

(C) Necropolis

(D) Corbunation

According to Christaller’s theory, In
marketing principle, if the
population of the region is 18,000,
what will be the population served

by the central place and the

complementary region ?

(A) 6,000 and 12,000

(B) 4,000 and 14,000

(C) 3,000 and 15,000

(D) 8,000 and 8,000

15.

16.

JAN - 36318/III—B

ISaYAT o AAEITS TR SARTHAN

STEAIe] WA & fATTter g™

Toqat=a1 FgUIAIaR, ITSIRUS AT e,
SR @ HeRIE elshEe 18,000
3T W A S T&H 9 T =
TR dlehEe fahdt e ?

(A) 6,000 9 12,000

(B) 4,000 9 14,000

(C) 3,000 = 15,000

(D) 8,000 = 8,000
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17.

18.

“Umland” is also called as ............ .

(A) Urban continuum

(B) Peri-urban

(C) City-region

(D) Central business district

Considering the Crude Birth rate is

15/1000 and the crude death rate is

12/1000, then the country is in the

stage of demographic

transition.

(A) 1

(B) II (a)

(C) II (b)

(D) III

18.
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(A) TETHSIT Herwdl

(B) I8 iodia=n qeel
(C) TR W9

(D) &5 HaEE faum

S Gleles ST & 15/1000 o @leles Hegal

12/1000 &I &R, T 0 < ARG

(A) 1

(B) II (a)

(©) II (b)

(D) III
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19. Alfred Weber introduced theory of | ;g o ol srediea e
industrial location in the book )
STTHE JeRA SN T 0T fagTd
entitled ................... .
.
(A) The theory of industrial
: I TR teRtoEn gt
location (A)
(B) The location and theory Of (B) THEH 9 dgﬁqiq[ rHoS\P'('I
industries
(C) T =< Tenfrartetomen fagr
(C) Least-cost location theory
(D) ST =
(D) Industrial location
90. Which of the following mode of | 20. WIEcIIeh! o AT HEAET HIv=q
transport has higher fixed costs ? T Haifyes e ?
(A) Bus (A) 99
(B) Truck (B) <=
(C) Railway (C) ¥
(D) Ship (D) St
11 [P.T.O.



21.

22.

23.

Which of the following is not

variable cost of railway transport

system ?

(A) Depreciation and interest
(B) Labour cost

(C) Servicing and maintenance

(D) Fuel cost

Nomadic herding is practised by the
................... in East Africa.
(A) Fulani

(B) Bantu

(C) Nuba

(D) Masais

Ladang is a type of agriculture

practised in ................... .

(A) Brazil

(B) Mexico and Central America
(C) Indonesia and Malaysia

(D) North-Eastern States of India

21.

22.

23.
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TIETeTdeh! I 360 STEqeh HTEIl
a0 @9 A ?

(A) 92 9 o9
(B) SR @
(C) Wal 9 =@

(D) 399

(A) S

(B) HfcRhl o Hed STHTR
(C) SSHRTN & HARTN

(D) RIS EeM=Eehera T
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24. Which one of the following | o4 wrefieies Fvm fHum W AR -
statements is incorrect ?
(A) osreA1 Aidiel el €4 vieaa
(A) Plantation crops require heavy
outlay
(B) Economy of livestock ranchers (B) Wﬂﬂ'{ S ICHEG] W
is commercial R
YRR AR TR A
(C) Shifting  cultivation is
C) TUeaiad Sl e ek Seardast
characterised by field rotation ©) SIS
rather than by crop rotation ST SISl Heward  3T9d
(D) In intensive subsistence ) > S T S
agriculture animal farming is
forerfa smerell o1&d
more developed
25. The concept of ‘Spread’ and | 25. 'F@R’ & ‘wfqare’ wftomw RETEE]
‘Backwash’ effect was introduced AR HiSUAM el :
by :
(A) TR faeem
(A) Gunnar Myrdal
(B) T 3. &em A
(B) A. O. Hirschman
C) T Hh
(C) Gunder Frank (©) Tt
(D) Sameer Amin (D) R A
13 [P.T.O.



26. The Mormorn culture region has

27.

been studied first by which

geographer ?

(A) Meinig

(B) Kniffen

(C) Jackson

(D) Simon

Which is not a variable of cultural

needs ?

(A) Security

(B) Shelter

(C) Recreation

(D) Education

JAN - 36318/III—B

26. AEM T HIEHideh YRIMET A

27.

(A) HEFT

(B) %A

(C) Sih&d

(D) H&EHA

AN A ~ a o . o
Wflcdletden! enlVidl dqddl Alseniden 1K

AMEr ?

(A) gufagaar

(B) THama

(C) HARSH

(D) Teremm

14
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28. “Who gets what, where and how” is | 28. ®efiaidenl WS YA HIoTe
the focus of which sub-branch of SYRMEET W RI0ME, *E, HS S0
human geography ? Y Hed! Jer gar ?

(A) Radical geography (A) YA GURUTERET et
(B) Humanistic geography (B) HFedETE! e

(C) Welfare geography (C) AR et

(D) Theoretical geography (D) Fsifass e

29. The United Kingdom includes : 29. FTEE fehien WLl Wieilerish! hivm
(A) English TR E 7
(B) English and Scottish (&) S
(C) English, Scottish and Welsh (B) Efrew, whffex
(D) English, Scottish, Welsh and (C) Efrem, whifew, Jew

Ulster (D) sfierer, whifeer, 99, SeHS
30. Mestizois a .................. found in Latin | 30. <ffed sWfha AResw T
America. 3@
(A) Language (A) e
(B) Religion (B) =
(C) Group of People (C) STEge
(D) Script (D) fedt
15 [P.T.O.



31.

32.

33.

Who proposed ‘Three ages of

geopolitics’ ?
(A) Agnew
(B) Kjellen
(C) Natter
(D) Sharp

Which among the following is not

a force of cohesion for a nation ?
(A) Common language

(B) Sense of ethnic kinship

(C) Demographic homogeneity
(D) Fear of a common enemy
The inhabitants

Tharus are

0) .

(A) Coastal region
(B) Thar desert
(C) Deccan plateau

(D) Tarai region

31.

32.

33.

JAN - 36318/I1I—B
* SRISHIT i FTereis’ Sivl Higa ?
(A) =g
(B) Siea™
(C) T®

(D) wird

TeTaeh! HIV o § LT HarTad
9 Jog ?
(A) GHE 9ren

(B) aifyrer = o

(C) ThTCIRTENT  Teh STE 0T

(D) THE IEEES qI
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34. The techniques usually employed for .
a y empioy 34. HHEIHE Yo¥T IWMEATAT THE TR
actual delineation of functional
. e HES Bl
regions are :
(A) Ranking coefficient method (A) YA TEUiR fager
analysis
(B) 9a® 9 Tocd fagetso
(B) Flow and gravitational analysis
(C) Composite index method (C) dfgs gt uger fergersmon
analysis
(D) Hren weHaY fereetso
(D) Simple correlation analysis
35. Which is not a social indicator of | 35. Tl foeRMEMT WICiTUeh! hIowT AT
Human Development ? a9t AR 2
(A) Employment (A) TSR
(B) Education (B) forero
(C) Economic growth (C) el are
(D) Infrastructure (D) drnyd |t gfaen
17 [P.T.O.



36.

37.

Which of the following is an example

of economic planning ?

(A) Integrated watershed

development

(B)

Multi-purpose river valley

project

()

Management of scarce resources

(D) Town planning

Arrange the level in a bottom-up

hierarchy of planning region :

Mesolevel

(1)

Macro level

(2)

Micro-minor level

3)

Minor level

(4)

@A @ @2 @ 3

B @1 @2 & @

© @2 1O @ O

O 3 @ @O @

36.

37.

JAN - 36318/III—B

O IRISEEIRE LGRS I E IR ISEIE]

e 3R ?

(A) THIfcH® dvee faem

(B) wgseeia et WR yehed
(C) U= HHEA SHILATIH
(D) T f=E

o

(S gQeme 3T % ©ed a%=l
A JaR el :
(1) H=I9 Yrdes

(2) 95 Urdes!
(3) @ifd gaq urdad
(4) q&H Urda

@A @1 @2 @ 3

B 1 2 B @

© @2 1O @ O

O 3 @ @O @
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38.

Assertion (A) :

Regional modelling helps achieving
a scientific understanding of cities

and regions.

Reason (R) :

Model building can provide solution
to a variety of both urban and

regional problems.

Read the statements given above
and choose the correct option from

the following :

(A) Both (A) and (R) are true and

(R) is proper explanation of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JAN - 36318/III—B

38. faam (A) :

TR F YR MG Sehe B0

Tefier ey gfwa=n wed B

<uT (R)

BT o YRR A1 SRl 3 YIATal

T faem A Srelid T 3T

g faer

(A) (A) 7 (R) 3 faemt s8R oregd

(R) ® (A) ¥ a9 TOeiehul 38

(B) (A) 7 (R) =1 fasmt sieR a1

(R) ® (A) 9 I TR0 TRY
(©) (A)W?’TI%W(R)%%W

(D) (A) I% ¢ WG (R) T s 3T

19
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39. Each region constitutes a subsystem

40.

of the regional system whole is called

the principle of ................... .

(A) Ecological equilibrium

(B) Comprehensive development

(C) Horizontal spatial unity

(D) Vertical unity of phenomena

Which of the following five year

plans aimed at the removal of

poverty and attainment of self-

reliance ?

(A) Second

(B) Third

(C) Fourth

(D) Fifth

39.

40.

JAN - 36318/III—B

‘g YUYl B THY WY JUTTe=A

IU-YOIC= W&u 9l ard

o dod WU,

(A) TRt Foerel

(B) HaEHEe: faenmd

(C) fardteramiay STfyesia wehdn

(D) ST 3TU Tehdl

N

DISEE

EATeTUeh!  shI0[cal  Taibich

o~

e T ™

oM 9 W@aded §

gd ?

(A) T

(B) drerdt

(C) =efy

(D) r=rEt

20



41.

42.

All phenomena that operate in a
regional space are fully integrated
with each other is called principle

Of oo, .

(A) Vertical unity

(B) Horizontal spatial unity

(C) Space-time continuum

(D) Ecological equilibrium

Between which of the two following

ranges Kashmir valley is located ?

(A) Pir Panjal and Greater

Himalaya

(B) Pir Panjal and Zanskar

(C) Zanskar and Ladakh

(D) Pir Panjal and Karakoram

JAN - 36318/III—B

41. yrfeem fugad w=om=ar |d S

42.

TSN qUId: TehlfcHeh STEATA T

(A) U Tehdl

(B) farfast waiar sifussia wendn

(C) AISI-FhTes AT

(D) wTRfediehta Tt

Eciledeh! 0l S gaid T <=M

HRUR W TE 3T ?

(A) IR IS 9 Jea Tered™

(B) YR U 9 HREHT

(C) AR J ST

(D) 9 TSI 9 ShIThILH

21
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43.

44.

Which of the following pair include

two of the mountain peaks that are

also syntaxes ?

(A) Nanga Parbat and K,

(B) K5 and Namcha Barwa

(C) Nanga Parbat and
Kanchenjunga

(D) Namcha Barwa and Nanga

Parbat

Which of the following states has

highest number of major dams ?

(A) Punjab

(B) Maharashtra

(C) Karnataka

(D) Uttar Pradesh

43.

44.

JAN - 36318/III—B

EeieUeh! HIvdl Jeid FYre=n Sl
ALT-had AR® ?

(A) M wEd 9 K,

(B) Ky & =1 aval

(C) = Tad d RIS

(D) -H=T sl d I gad
@A hIvedl TSI HISaT SO
& Haifaes g ?

(A) TS

(B) HIE

(C) HAleH

(D) STHRYT
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45. Match the List I with List II and

select the correct answer from the

codes given below :

(a)
(b)
)

(d)

(1)
2)
3)

(4)

List I

Black soil

Red soil

Alluvial soil

Mountain soil

List II

Rice

Cotton

Fruits

Coffee

Codes :

(@ b (o (d

@A 2 @ @ @

B 2 3 @O @

© @2 @ @O G

D 1) 2 B @
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45. T 19 g 11 Ir= S Seeddrl
et feoen fasweuqa ara w1t

() TS &l
(b) TeET T
(0 el Hal
(d wedd HaT

(1) AR

(2) HYH
(38) oS

(4) TH!
Hehdieh :

@ b (o (@
A 2 @ & @
B 2 B 1 @
© 2 @ @O 3

O @O @ B @
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46.

47.

48.

Which one of the following rivers has

the largest basin area ?
(A) Narmada

(B) Tapi

(C) Pannar

(D) Kaveri

Which tributary of Godavari system

flows in East to West direction ?
(A) Wainganga

(B) Pranahita

(C) Indravati

(D) Manjara

Tropical thorney vegetation is

observed in ................. :
(1)
(2)
3)
(4)
(A)

Rajasthan

Gujrat

Karnataka
Telangana

Only in (1) and (2)
(B) Only in (3) and (4)
(C) Only in (2) and (4)

(D) In all the above states

46.

47.

48.
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TeATeush! v Tl TG @R &
Heiifees e ?

(A) et

(B) rdr

(C) TR

(D) =hrerl

TeTedt 7t Jomelte vt ST g o
ufyeq f¥H ard ?

(A) S
(B) wroTfedn
(C) E3Tadt

(D) HSE

CEresre] eI [e |
(1) TSEIH

(2) TeIUd

(3) HHieh

(4) derTom

(A) &ees (1) 9 2)
(B) e (3) 9 (4)
(C) whde (2) T (4)

(D) =R oo gd T
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49.

50.

Data related to point locations and

assumed to be in raster format is

generally represented on .............. .

(A) a choropleth map

(B) a chorochromatic map

(C) an isopleth map

(D) a choroschematic map

The image co-ordinate system starts

at e .

(A) Bottom left corner

(B) Bottom right corner

(C) Top left corner

(D) Top right corner

JAN - 36318/III—B

49. fog=n AR frifed 9 e 9gva TEy

TRIINA shedl STl

(A) &t

(B) &teyuit

(C) THeAT

(D) HRfERHTCH

50. wfaadia wefeee goume=l gEamd

(A) A=l STET hIT

(B) @A™l 3ISTAl ahiud

(C) I=T & g

(D) %=1 3ISTEl gl
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51.

52.

Georeferencing involves ................ .

(A) Assigning spatial data to the

mapped units

(B) Assigning geographical

co-ordinates to the mapped

units

(C) Assigning attribute data to the

mapped units

(D) Assigning real time data to the

mapped units

A mean of the squares of deviation

SCOres means ......cceeeeeeeenn .

(A) Arithmetic mean

(B) Standard deviation

(C) Mode

(D) Variance

52.

JAN - 36318/III—B

(A) RIS SR AT T

Heoffq

(B) TRIeIel Seehi Aiifeten Tefesenl
Teid 0T
(C) eRTeICIel SEehi=T ToTertal |refiy

Heoffq

(D) SRR FEHHT TTThTeT AU

Hesfa s

forae Jear=a ST ad RN

(A) SRR T

(B) wHIfUre ferere

(C) dgath

(D) for=rm
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53. 1\’/31*32*33* ....... a,="? 53. {1/31*32*33* ....... a, ="?
(A) Arithmetic mean (A) STRIOTEE FUad
(B) Absolute mean (B) THeaes 9uedd
(C) Geometric mean (C) siifafas wREd
(D) Harmonic mean (D) T FEd
54. Which one of the following would be | 94 GeATeTdehl ol e e fei-
shown on the map with pictorial e <Eael oed 7
form ?
(A) TS faawm
(A) Rainfall distribution
(B) wrehge faay
(B) Population distribution
(C) TR
(C) Monuments
(D) Elevation @) =
B5. e, is called tuple or record 55. WY WIGHIter SRR
in database. FRUTId.
(A) Column (A) T
(B) Row (B) @i
(C) Table (C) Hmon
(D) Attribute (D) ToTEH
27 [P.T.O.



56.

57.

In which rock type areas, petroleum

reserves are found ?

(A) Sedimentary

(B) Metamorphic

(C) Igneous

(D) Volcanic

................ is the interaction of kinetic

energy by the moving material to

the surface along which it moves.”

(A) Weathering

(B) Mass movement

(C) Transport

(D) Erosion

JAN - 36318/III—B

56. HIUAT JHE Weh ATATT &

TfeaH e |18 Seaard 2

(A) wfa

(B) ®U@id

(C) A

(D)

57. JSSUTTEEA dTUI=AT UQIqel Herd

ST TS Istoa] JSHRTIRH BIoT=at

TR TS

(A) T9&d

(B) faega it

(C) =&

(D) 3TY&TT
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58. In humid areas, ............... accelerates | 58. THZ TAMMIAT YoM -&d STY&ROMEl
stream erosion. Fup e TS A
(A) Relatively flat flood plains (A) R TR T{ﬁﬂﬁ
(B) Stream flow (B) STci¥drs
(C) Natural leeves (C) qae
(D) Steep gradients (D) da IR
59. Karst topography is developed due | 59. &R YfgwEdrE=n fawm =0
£0 e erosion. STAETLOTA Bral.
(A) Glacial (A) femdt
(B) Groundwater (B) 9T
(C) Stream (C)
(D) Wave (D) <ren
60. .oeeeiiiiiiens is not associated with | 0. 3% =T <M ‘{FEITS'ﬁ “““““““““
stream landscapes in arid areas. TEfea 994,
(A) Alluvial fans (A) e T@
(B) Arroyos (B) R
(C) Ox bow lakes (C) HSARER T
(D) Wadies (D) =
29 [P.T.O.
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61. Who worked where ? Match the 61. F FB FERG AF 2 S aE
following :
AdMEA
Scientists
(a) =1 . fwd
(a9 W. M. Davis
(b) wre firerer
(b) Karl Gilbert
(0 Td. G fon
(oo L. C. King
(d . U
(d) W. Penck =%
Areas e
(1) Alps Mountain D) S
(2) New England 2) = ¥
(3) Henry Mountains (3) T wed
(4) South Africa (4) T. ek
Which one of the following is the SiTeeITa1 WeTeTish! I HH SRIeR
correct sequence of the pairs ? e ?

(@ b ©© (@ (a b (© (d
A @O 2 6 @ A QO @2 B3 @
B @ @ @ B @ @ @ @
D @ 3 2 @ D @ 3 @ @
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62. How many supercontinents were

formed and separated before

JAN - 36318/III—B

62. Ul wREErAgE oM fohdl weEe

oo smer 9 faufeq oer 89 ?
Pangea ?
(A) A
(A) Zero
(B) T
(B) One
(C) ™
(C) Three
(D) More than three (D) il
63. As glaciers retreat, they leave | 63. TeHTa 3Tehdd  STHAM TIR B0
behind large hills of debris known HIgieedl SeheaT EIEISG!
E2 1S O . ERGIGE
(A) Glacial till (A) Tifeae fea
(B) Outwash deposit (B) sScoifed 9= g
(C) Drumlins (C) gHfeH
(D) Moraine (D) feve
31 [P.T.O.



64.

65.

Condensation occurs when the air
temperature reaches dew point.
When the dew point is below 0°C,

it is referred to as ................ .

(A) Supercooled point temperature

(B) Frost point temperature

(C) Ice temperature

(D) Cooler temperature

The uneven distribution of insolation

on the earth surface is maintained

by e .

(A) Spherical shape of the earth

(B) Distribution of land and water

(C) Direction of winds

(D) Pressure belts on the earth

64.

65.

JAN - 36318/III—B

™

go A9 afega derd deal Fsavl

BN TAfag St 0° F. = et 3Tl

AHes THHE WA .

(A) Q=T ST SRR

(B) <= 9 9o 9= faao

(C) o= fawm

(D) Yeateiidl aRHR &2
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66.

Electromagnetic waves transfer

energy between two bodies, without

the necessary aid of an intervening

JAN - 36318/III—B

66. foR[agemia TRl Seal TeEAEdl vl

qeTatea Hediea STEvIhA e SH

TEHICTM FHoid TIMAY hidid  deal

material is termed as ................. X [ 155 I 39 U
(A) Radiation (A) IR
(B) Convection (B) AfwERo
(C) Conduction (C) ==&
(D) Current (D) 9a©
67. The summer monsoon normally sets | ¢7. YRd fgushcuren 31fq <faroRe Wﬁ
in over the extreme south of Indian ([
AT o 2.
Peninsulaon ....ceeeueeennen... }
(A) T 7
(A) First of June
(B) We B
(B) Fifteenth of May
(C) Twentieth of May (C) = A
(D) Fifth of June (D) 9= S
33 [P.T.O.



68. List of types of precipitation (List I)

and their characteristics (List IT) are

given.

Match the List-I and List-II and
select the correct answer from the

codes given below :
List I
(a) Snow
(b) Hail
(¢ Dew
(d) Rime
List II
(1) Condensation droplets on the

ground surface or grass
(2) Clear crystalline or granular ice

(3) Ice crystals falling in branched
clusters as snow flakes

(4) Hard pellets, balls or irregular
lumps of ice

Codes

(@ b (@ @
@ 3 @2 @O @
@ @2 O @ O3
© 3 @ @O @
D @ 3 @ @

JAN - 36318/III—B

68. IR THR (FE 1) a &= dfvrsey

(=t 1) oot e

[N fa

e [l 9 @eiial feciedn foreshedrd

I v e
T I
(a) o
() T
(0 <d
(d) TEH
Tt 11

(1) SfHr=T gs39m fohan e Amedie
X .
(2) =3 Thichad fhal FHUER I%

(3) TH= U THSATYHTY TSUR
ThHicH! THE IMEE Faleh

(4) SR HAU Tebiehl, e fohan

AT STRR=AT oo
Hehdiah :
(@ b (o (d
@A 6 @ @O @
B) @2 @O @ 3
© & @ @O @

M @ B3 @ @
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69. Assertion (A) :

The height of the tropopause at any
point is correlated with sea-level

temperature and pressure.
Reason (R) :

Sea level temperature and pressure
are related to factors of latitude,
season and daily changes in surface

pressure.

Select the correct answer from the

codes given below.
Codes

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but

(R) is not correct explanation

of (A)
(C) (A) is true and (R) is false

(D) (A) is false but (R) is true

JAN - 36318/III—B

69. faam (A) :

HqeHaY 81 HHZ TR q9HH & AgYR
TR 3R
%RUT (R) :
Y5 HUE aIHHE 9 SY9R § S8,

g 3o S I auRde e
1 HSHR FEEd TR

@il Tehdishideh! AT fasheq el

ha N

(A) (A) g (R) Tret SU&R a7

(R) T (A) 3 T TIRH TR

(B) (A) ¥ (R) I aeR 31ed W (R)
T (A) 9 g% TR0 G

(C) (A) ¥ SRR 3¢ WG (R) ¥ I%
3y

D) (A) § I% 3R W (R) § SN
3T

35

[P.T.O.



70. Thermal efficiency index was

71.

deviced by .......c.......... .

(A) Koeppen

(B) Strahler

(C) Trewartha

(D) Thornthwait

Fall in sea level is caused

|32 .

Loss of ocean water through

evaporation

(B) Isostatic rebound

(C) Melting of ice sheets

(D) Hydroisostasy

71.

JAN - 36318/III—B

.............. -q.i:ﬁ 3%”55 q,,|¢(|\g:“.|q| ﬁa?mhltn

IS hedl.

(A) =

(B) WIer

(C) Tt

(D) e

(A) STSIHes R AToaT= <81

(B) HHEmEt gfasehea

(C) Teuer foadesn

(D) ST U
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72. Assertion (A) :

73.

Phytoplanktons are also considered
as grazing grounds for zoo-

planktons.
Reason (R) :
Zooplanktons are not grazers.

Select the correct alternative using

the codes below :
Codes

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

............... is not observed in equatorial

rainforest.

(A) Ebony
(B) Mahogany
(C) Bamboo

(D) Rosewood

JAN - 36318/III—B

72. fagam (A) :

73.

IATIT AR WO WiaehT™ TS &
T Haea.

ruT (R) :

TN &Igeh S0 9.

Ectel Hehdishiueh! I fasheq fHarel.

F@ﬁ'ﬁ? :

(A) (A) 3 (R) T8 S{&R 3Ted 3T
(R) T (A) 3 T TIRH TR

~

(B) (A) @ (R) TI=I aleR 3Ted T (R)

B (A) o 3T TIR AR

(C) (A) T W 3¢ W (R) T I%
Y

D) (A) T g% R Wg (R) T SR

¥ foveesia aufaaa smee

(A) T
(B) et
(C) =
(D) sTeE
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74.

75.

Which one of the following factors
is responsible for variations in the

flora and fauna in different parts of

the earth.

(A) Changes in physical
environment

(B) Changes in social and cultural

environment

(C) Changes in technology

(D) Both (B) and (C)
Ocean gyres are mainly the result

Of oo, .

(A)

Prevailing winds and Coriolis

effect

(B) Ocean current diversion

(C) Conveyor belt

(D) Salinity of the ocean

74.

75.

JAN - 36318/III—B

geat= fafg

& ATl ST EadrsiTd ATfoT

YTOTSITd AT Seelid @eileTdeh! hivrd]

Heh HRONYd 3R ?

(A) UTHhfaeh GG aga

(B) WIS AT Ahieh TATaRuie

EHS!

(C) TIAEA oea

(D) <= (B) 9 (C)

(A) gafad ar o1 SiRefad gRomm

(B) 9l YaTerial foRmegd

(C) oTesh T

(D) FFTET &I
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ROUGH WORK
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ROUGH WORK
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